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a—F g ik | BER | (kg & (M) EiE o fi Al PE (HAL)
30104 HBLEKIR 6 65 32 32 32BN 2R
31200 LUH¥E 6 91 3 3 31BN 287
Y3015 7 & UE 4 324 32 32 16 | BA 133K
32600 % 3 42 3 3 RER=T 133
31700  F ¥ X 80 2, 160 378 378 108 | &M 84—
31800 1ZHhAE 34 3,879 43 11 11BN 1723R
31950 Ah¥ 540 54 54 54 | BH 103
31900 R ¥ 356 119 119 119 | BH 3kg
35220 XM X T 3, 875 540 432 432 | B 8kg
35300 | E°—=R 10 7,562 864 864 648 | BN 10kg
36303 AF Yy TEIAED 10 1, 166 216 108 108 | &M 10kg
Y3026 [Aty7 ExA LD (F) 1 346 432 432 432 | B lkg
Y3115 EZAE D 2 518 216 216 216 | BN 2kg
Y3033 24T 141 7,614 54 54 54 | B 141kg
36200 EihE 40 2, 808 76 76 54 | B 40kg
33400 L&A 20 1,512 43 43 32BN 401E
33410 #=—1L &z 8 1, 080 32 32 11 BH 4048
33300 oy ol — 19 2,257 119 119 119 | BH 19kg
133300 Ymyal)— 13 1,912 49 43 221 BN 441#
33308 (AT 4w Tyl 5 2,376 97 97 92| B 2548
36340 | LNz EEE 45 5, 767 162 130 86 | B9 45kg
41806 7= AINA 120 47, 520 972 648 648 | BN 60 v b
141481 T aRy 40 3, 888 648 648 216 | &M 8x v b
41807 AA—RARTFY LY 25 4,101 22 22 12/ B 2521
46108 | AT DD 42 59, 368 432 432 400 | BN 14073y 7
71011 RS L —% 53,676 59 59 49 | B 9504
71030 Ko7+ 2,106 65 65 27 BN 45K
21032 | RZ%F (GR) 2,052 54 54 43 | BN 4048
71060 A kw2 8, 100 43 43 38| B 2004
71150  LiE 324 32 32 32BN 1036
21262 B RTT 324 65 65 65| BN 5
71286 Zu—A 4,817 119 119 86 | BN 427K
Y5025 | 1E A 3% 3 140 54 54 54 | B 3kg
30100 |72V 2 A 2 L 240 5, 422 54 12 12 | EIRE 2407
30300 | A& B 100 1, 868 216 216 119 | RS 1048
30300 A% B M 140 3, 456 1,188 540 216 | HE T4 — 2
31100 93¢ 180 1, 264 119 108 76 | EIRE 1247 — R
32600 &% 4 216 11 11 11 | & 2048
31700 ¥y~ 100 540 54 54 54 BB 1047 — A
31950 HH&E B 24 3, 348 594 324 324 1 FEIR B 87—
31900 fa¥ M 5 1,231 162 162 65 HEVE 103K (500¢)




VA ey BREeATHS #=H
a— K e Fik | B (kg) &% (M) = i el PE (BAL)
32800 1256 2 810 43 43 38 | =R 205
34300 |729 3L 10 4, 968 2,484 2,484 2,484 |fE C 2 —2R
34400 | k= bk 12 3,132 1,080 1, 080 972 |EIRE 3 —

34460 I=k F L M 5 3,110 130 130 130 | EIRE 24,3
34100 | HA/K 2L 20 6, 264 1,728 1,728 1,404 | EIRE A=A
34200 |FE /I 20 2, 592 130 130 130| == —3— 20kg

| SUKr .
34571 X7V J () 1 432 86 86 86 | [E 5{H
34572 T U A () 1 432 86 86 86 | =  5fH
37200 L x9N 2L 8. 3,024 1,512 1,512 1,512 | HE L2 — A
32900 AU — 3 821 324 324 173 |#& REN
33600 /St Y 1 238 108 32 32| K4y 54%
38100 A LWz 11 7,128 86 65 59 | B I 1108y 7
31310 AT 8 1,296 32 32 32 | fa i 4048
31500 |/MVAZE 8 2, 592 65 65 65 |EIRE 4048
32500 | A0 2 464 36 36 11| ERE 203K
37560 | FBIT 1 1, 890 270 270 270 | K4y Ty
38400 X DEH 15 4,752 32 32 30 | EIRE 15048
41806 |- AN 30 12, 096 2,160 1, 944 1,944 |BIRE 6 — R
Y4053 | RAA— kALY 13 2, 808 108 108 108 |HEA 2648
47310 NFVav Ay B 5 173 108 11 1| Axv=a 5

49100 | ANFF 120 12, 096 1, 620 1, 080 1,080 | 7 4 U EY 10—

1 Y5006 | I (&) 90 21, 341 2,516 2,516 2,246 B IRE 9 — R
Y5006 | FHIR (B&5h) 56 12, 593 161 161 147 |EIR S 80,83y

A&t 1,926 355, 063
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